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ool =X sE (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S ML 41,912,238 39,085,318 2,826,920
= 1,286,937
Jl 20,914,147
= 4,120,836
Al 15,590,318
XEE I 38,108,814 38,491,201 N\382,387
= 972,377
) 20,914,147
= 3,765,668
Al 12,456,622
SXNsE 2,932,411 2,225,39% 707,016
= 689,984
[ 441,110
Al 1,801,317
%;l—%%%‘—ﬂl 4 N(sHENSFL02 AIREX 59,750 59,750 0
!
= 29,874
< 8,274
Al 21,602
307 212+01& 59,750 59,750 0
= 29,874
=S 8,274
Al 21,602
02 QB AANEER 59,750 56,881 2,869
OsENEFL0IE SAHAF 22|l 59,750
= 29,874
= 8,274
Al 21,602
SEASFHSLENE (MS0SEENHSRE) 3,986 0 3,986
= 2,492
&< 448
Al 1,046
307 gl2to| & 3,986 0 3,986
= 2,492
= 448
Al 1,046
02 2B YAIHE £ 3,986 0 3,986
OsENgZ20ts 28t 3,986
= 2,492
< 448
Al 1,046
SE2EFN |4 NS (sELUXE) 2,040 2,100 AB0
= 1,020
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 306
Al 714
201 er23| 2,040 2,100 260
= 1,020
== 306
Al 714
03 A2 b 2,040 2,100 260
OsZE2EAHIA WS 2,040
= 1,020
=S 306
Al 714
HEotscld usXa 960 1,440 2480
= 598
=S 108
Al 254
307 @I2to| & 960 1,440 A480
= 598
= 108
Al 254
02 2B YAIHE A 960 1,440 A480
OIE = 960
= 598
= 108
Al 254
SEME XA & OtSaH&t 2,400 1,200 1,200
=S 600
Al 1,800
307 @12t01 & 2,400 1,200 1,200
== 600
Al 1,800
02 LB HANHEE 2,400 1,200 1,200
OsZEME XA & OFSaH&It 2,400
S 600
Al 1,800
SE2EFN |4 NS (SESMXE) 20,000 32,000 A12,000
= 10,000
Al 10,000
307 gl2to| & 20,000 32,000 212,000
= 10,000
Al 10,000
02 QB HANEER 20,000 32,000 A12,000
OsEFNAFAS 20,000
= 10,000
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 870,000 549,400 320,600
= 609,000
T 78,300
Al 182,700
02 QIZHBAAIEER 870,000 549,400 320,600
O¥d=del I=sF3XZ 870,000
= 609,000
T 78,300
Al 182,700
SHZFHLE 63,000 28,000 35,000
= 27,000
T 13,500
Al 22,500
307 2Iz2+0l™ 63,000 28,000 35,000
= 27,000
& 13,500
Al 22,500
02 QItBAAIH E X 63,000 28,000 35,000
O=sgZd Zdd 63,000
= 27,000
& 13,500
Al 22,500
dd=sgel HsZ=R 102,666 102,666 0
T 30,800
Al 71,866
307 2I2+0l™ 102,666 102,666 0
T 30,800
Al 71,866
02 QB AAIEER 102,666 102,666 0
OFE=gel HsZEN 102,666
= 30,800
Al 71,866
dd=gel HRLIE 843t 10,000 10,000 0
& 3,000
Al 7,000
307 212+01™ 10,000 10,000 0
T 3,000
Al 7,000
02 QIZHAAAIHE X 10,000 10,000 0
OFA=H0l HRLIEI 2435t 10,000
= 3,000
Al 7,000
FH=sgelss 106,380 106,380 0
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< 21,276
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201 er23| 106,380 106,380 0
= 21,276
Al 85,104
01 At2teltl 106,380 106,380 0
Oget+=ZHI 106,380
—2li=ge RSFEX 22(28) 106,380
s 21,276
Al 85,104
s8] tesssA 18,000 18,000 0
& 5,400
Al 12,600
307 elztol & 18,000 18,000 0
= 5,400
Al 12,600
02 2IZHBYAIHE £ 18,000 18,000 0
Osd)l lli=ess24 18,000
= 5,400
Al 12,600
FHI=HBSANE 15,686 84,000 /68,314
[ 7,843
Al 7,843
307 glztol & 15,686 84,000 68,314
S 7,843
Al 7,843
02 2B YA E X 15,686 84,000 N68,314
Oz D=sHBHA wss 15,686
= 7,843
Al 7,843
SOl HESHE 201,571 202,983 A1,412
== 83,000
Al 118,571
307 212+01& 201,571 202,983 A1,412
[ 83,000
Al 118,571
6 2= 201,571 202,983 N1,412
O=sgel Mot S Al 201,571
= 83,000
Al 118,571
S0t =201 21,420 21,420 0
= 5,040
Al 16,380
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 21,420 21,420 0
= 5,040
Al 16,380
14 DBt 2 a=S 21,420 21,420 0
Os0ItE201(42)
70,0002 *4 & 90 «85% 21,420
=S 5,040
Al 16,380
Hed=sgel UM X 379,080 260,624 118,456
< 142,155
Al 236,925
307 lztol & 379,080 260,624 118,456
= 142,155
Al 236,925
02 2B YA E X 379,080 260,624 118,456
Otld=gel 82X
130,000 +3, 6452 *80% 379,080
= 142,155
Al 236,925
Hd=gol SMHI*H I 21,600 36,100 14,500
[ 8,100
Al 13,500
307 glztol & 21,600 36,100 214,500
= 8,100
Al 13,500
02 2IZHBHAIHE & 21,600 36,100 14,500
Ol d=sel St HIRX
9,000,000 *32 +80% 21,600
= 8,100
Al 13,500
sgol =&Y Holddl A 49,000 49,000 0
[ 14,000
Al 35,000
307 elztol & 49,000 49,000 0
S 14,000
Al 35,000
02 2B YA E X 49,000 49,000 0
O=gol =&Y HoFy
500, 0002 1402 *7(f% 49,000
= 14,000
Al 35,000
Syy 297,400 396,252 N\98,852
101 21AH| 117,320 112,192 5,128
M ORNZZ2NSE S 117,320 112,192 5,128
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| O=&ol0/g 28 HEX 140,692
SIS Xl 26,250 21,691 4,55
2 10,500
= 4,725
Al 11,05
307 LI2H0| & 26,250 21,691 4,550
= 10,500
= 4,725
Al 11,025
RIEEPONEES 26,250 21,691 4,550
O BARI|= 2 T A (3oha) 26,250
2 10,500
= 4,725
Al 11,025
=2 HZH 192,099 88,39 103,709
2 127,983
= 3,083
Al 3,083
307 212+01H 192,099 88,39 103,709
2 127,983
= 3,083
A 32,083
RIEE POV EES 192,099 88,39 103,709
O=LIHERI(1, 154E) 192,099
2 127,933
= 3,083
Al 32,083
S ZHIR (HEAE) 1,849,600 1,843,800 5,800
201 Lere ety 5,800 0 5,800
01 AFR22IH| 5,800 0 5,800
ORIIBHIE AIERA 248 5,800
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Al 63,382
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= 15,833
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EIEEVNEEES 79,165 2,506 76,659
OXga=Y KEHME 79,165
= 15,833
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3 UEE 3y
Bl DSIAMM (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,000
4IIEet2d=s 26,000 23,632 2,368
OES=4tE X=X (8.6na) 26,000
s 8,000
Al 18,000
ol OfES=E E2AIE K& 7,920 11,880 23,960
= 3,960
=S 1,188
Al 2,772
402 2I2F X201 & 7,920 11,880 A3,960
= 3,960
= 1,188
Al 2,772
02 QI XHE AL E R (01X THE) 7,920 11,880 23,960
ORdl Ordis= ZEAE X
1,320,000 +6LH 7,920
= 3,960
= 1,188
Al 2,772
NSEAAA 96,000 108,000 212,000
301 EetE2 NS 48,000 48,000 0
14 0Bt 2as 48,000 48,000 0
OHtd0l THEREEX] &4 (200ha) 48,000
307 elztol & 48,000 60,000 A12,000
02 LB HAHE L 48,000 60,000 A12,000
OE2 HATHBHEX] X4 (80ha) 48,000
B Miisot 2= 1,500,000 1,500,000 0
= 450,000
Al 1,050,000
301 EtE N = 1,500,000 1,500,000 0
=S 450,000
Al 1,050,000
14 0Bt 2as 1,500,000 1,500,000 0
OBl M=ot 3 erE Xt=(3,930ha) 1,500,000
< 450,000
Al 1,050,000
NSE A MMER &M X 93,968 43,905 50,063
= 18,7%
Al 75,174
307 el2tol & 93,968 43,905 50,063
= 18,7%
Al 75,174
02 QIZHEAAEE X 93,968 43,905 50,063




SN SYEH
B QES SoiEm
Eelr DS E/MA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSE & MAMHX =4 (167.8ha)
800,00024 %167 .8nax70% 93,968
= 18,7%
Al 75,174
B Golls SSYHUl Xa 1,370,000 1,050,000 320,000
== 90,000
Al 1,280,000
206 M=l 70,000 70,000
01 MHZHI 70,000 70,000
OH S2gais gaguE %M
25,0002 »2,8004 70,000
307 elztol & 1,300,000 1,060,000 250,000
= 90,000
Al 1,210,000
2 BIRIZ AL R E 1,300,000 1,060,000 250,000
Obf gz ISYHY)
100,000& +3,000ha 300,000
== 90,000
Al 210,000
OH gais SSYMHI(XHA) 1,000,000
B golE ZH XA 279,872 279,871 1
206 Mzl 257,372 257,371 1
01 2| 257,372 257,371 i
OB HHSLRE SDUTHIH
9,000 %35, 746 K| +80f% 257,372
402 2I2F X201 & 22,500 22,500
01 RIENGSASE X (XM THR) 22,500 22,500
OUXE b dais YMAH(EE)
15,000, 0002 *3IH*50f% 22,500
sof ot ALEEH| X 47,500 356,000 12,500
= 9,500
Al 38,000
307 elztol & 47,500 35,000 12,500
= 9,500
Al 38,000
02 2B YAIHE A 47,500 35,000 12,500
Oser otd AH2EH| I (9%50set)
50,000 *950SET 47,500
== 9,500
Al 38,000
o A EF 80,000 142,500 262,500
307 glztol & 80,000 120,000 240,000
02 2IZHBHAIHE £ 80,000 120,000 40,000
Ol 012 UIM== ol X2 80,000
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SN SYEH
B QES SoiEm
Chr DEZMAMA (el @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,000
Al 48,000
02 QIZEHE AL E (01X THE) 60,000 60,000 0
Oalgdiat 8L X2 60,000
= 12,000
Al 48,000
Orctel2 THHHEHR] =& 233,260 233,260
402 2I2FX=01 & 233,260 233,260
01 RIS ASEZ(XHMITHR) 233,260 233,260
Ootetel# T 24 233,260
SAHH &I 2 K& 165,000 0 165,000
< 33,000
Al 132,000
402 QI>F X201 & 165,000 0 165,000
= 33,000
Al 132,000
02 QI TH2AIE EE(0IMTHE) 165,000 0 165,000
Okl &%) 28 X
55,000,000 «6LH*50% 165,000
= 33,000
Al 132,000
=2 744,920 759,931 A15,011
= 100,000
= 47,400
Al 597,520
=2 N2 100,000 100,000 0
= 100,000
201 er23| 2,500 2,500 0
= 2,500
01 At22t2lt] 2,500 2,500 0
Oget=ZH| 2,500
—L=z2e| =S| 2,500
= 2,500
202 04| 2,500 2,500 0
= 2,500
01 2L AH| 2,500 2,500 0
Og=2el ge=a 2,500
= 2,500
206 M=l 95,000 95,000 0
= 95,000
01 MHZH| 95,000 95,000 0
OodRac|ed= XTI M 95,000
= 95,000
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SN SYEH
3N =8 - s 243t
=R AsTE 243 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 365,168
Al 1,427,333
sHE 2435t 486,781 486,781
= 175,000
== 59,550
Al 252,231
HsHE RAXE A 350,000 360,000
= 175,000
=S 52,500
Al 122,500
101 21AH| 28,190 28,190
= 14,095
= 4,228
Al 9,867
04 JIZtN2 2N S 2+ 28,190 28,190
OFs - AE 4E3(19) 28,190
= 14,095
= 4,228
Al 9,867
201 er23| 99,710 99,710
= 49,855
= 14,957
Al 34,898
01 At2teltl 69,710 69,710
Oget+=EZHI 69,210
—HsHE 2S 3,810
= 1,905
= 572
Al 1,333
—AsHE 882 € JI0IES HA 15,000
= 7,500
= 2,250
Al 5,250
—AsHE M 22 40,000
= 20,000
= 6,000
Al 14,000
—AsHE SUEI 2 6,000
= 3,000
= 900
Al 2,100
—H=sHE SHOIX 2 3,400
= 1,700




SN SYEH
3N =8 - s 243t
=R AsTE 243 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 510
Al 1,190
—SEE N9EE MSMHHIA X2 1,000
= 500
== 150
Al 350
O=28+¢ 500
—a2RBs HFAsY 500
= 250
= 75
Al 175
03 A= SHI 30,000 30,000
OZAIR RXI 2t&al It 27,000
= 13,500
= 4,050
Al 9,450
OHsHEL AEIFO 3,000
= 1,500
= 450
Al 1,050
202 04dl 5,600 5,600
= 2,800
= 840
Al 1,960
01 =LHA LI 5,600 5,600
OFANUSERI AHEFA 5,600
= 2,800
< 840
Al 1,960
301 EtE NS 126,500 126,500
= 63,250
< 18,975
Al 44,275
11 dALEEIXIRE S 6,500 6,500
OASHHE S A ZAA 3,500
= 1,750
== 525
Al 1,225
OA=elgze HaX| Ast 3,000
= 1,500
== 450
Al 1,050
14 JIEt2d= 120,000 120,000




SN SYEH
3N =8 - s 243t
=R AsTE 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAsel sA A= 10,000
= 5,000
== 1,500
Al 3,500
OA=s7FER OlAl X1 26,000
= 13,000
== 3,900
Al 9,100
OF=0l HEE X2 36,000
= 18,000
== 5,400
Al 12,600
SZ0IA Olcl &0t=2D] 48,000
= 24,000
== 7,200
Al 16,800
307 glztol & 50,000 50,000
= 25,000
s 7,500
Al 17,500
02 QIRIHAANGE R 50,000 50,000
OAs - AEQ XL ZFHEHA} 20,000
= 10,000
= 3,000
Al 7,000
Ol #0its 83tus 15,000
= 7,500
= 2,250
Al 5,250
OFAsHER Sotel K& 15,000
= 7,500
= 2,250
Al 5,250
402 2I2F X201 & 40,000 40,000
= 20,000
= 6,000
Al 14,000
02 QI XHZ AL E R (01X THE) 40,000 40,000
OHsHERS & 40,000
= 20,000
= 6,000
Al 14,000
HAsHE JHAA 23,500 23,500
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SN SYEH
HH: 50 5E 245
=R AsTE 243 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAsHEL LA XA 30,000
402 2I2F X201 & 30,000 30,000
01 QIZEXHE AL 2 (RERITH ) 30,000 30,000
OA=s2 FEsgel =) KA 30,000
SEIIHKXE 1,610,280 1,610,280
= 139,560
= 295,618
Al 1,175,102
WIFE sIA KN 30,000 30,000
= 15,000
Al 15,000
405 AtaHE = 30,000 30,000
= 15,000
Al 15,000
01 TR ESF SHI 30,000 30,000
OUsE s&IHXNEA 30,000
—sg8 NaXyx 14,000
= 7,000
Al 7,000
—SgE SH2EX 16,000
= 8,000
Al 8,000
SEIIH SstEXl 2 1,900 1,900
= 760
= 228
Al 912
402 2I2F X201 & 1,900 1,900
= 760
= 228
Al 912
02 QI X2 AL E R (01X THE) 1,900 1,900
Os2IH SAHXF=
100,000 * 19CH 1,900
= 760
= 228
Al 912
2SI UA 400,000 400,000
s 80,000
Al 320,000
405 AtatE = 400,000 400,000
[ 80,000
Al 320,000
01 AL =S F=H 400,000 400,000




SN SYEH
M ol =& B
chel: sSIIAXS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O==2I1A WA 400,000
= 80,000
Al 320,000
SEY sgIAH XN 439,500 439,500
=S 140,250
Al 299,250
402 2I2F X201 & 439,500 439,500
< 140,250
Al 299,250
02 QI XH2AILEE (01X THE) 439,500 439,500
OX&Ed s X2 372,000
S 120,000
Al 252,000
Odtaate] 45 A =K 47,500
= 14,250
Al 33,250
OLNSHELUOI=H AT H K2 20,000
< 6,000
Al 14,000
SIHESE sIIRs 282 N2 A 24,000 24,000
= 7,200
Al 16,800
307 elztol & 24,000 24,000
= 7,200
Al 16,800
06 28= 24,000 24,000
OsJIHEE sIIRY 282 24,000
s 7,200
Al 16,800
sYIIHNSE =2k 140,400 140,400
& 32,600
Al 107,800
101 @124H| 52,000 52,000
= 26,000
Al 26,000
MU IIRINZZE2NSES 52,000 52,000
REE =83 MZot)| Z2HE(4Y) 52,000
—Jlzs 37,865
== 18,932
Al 18,933
— i 8,081
= 4,041
Al 4,040




SN SYEH
M ol =& B
chel: sSIIAXS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— ¢ X 1,616
= 808
Al 808
—R=ad 2,470
=S 1,235
Al 1,235
—2HAlH| 1,968
= 984
Al 984
202 04l 1,400 1,400
01 =LHAHI 1,400 1,400
OsgIAS Y 1,400
206 M=l 65,000 65,000
01 M=4l 65,000 65,000
OsgIlH=2l=cl 65,000
—=3UR BE 65,000
405 AHaHE = 22,000 22,000
= 6,600
Al 15,400
01 MMM ESFSHI 22,000 22,000
Oz s Ja+=s s2IIH X 22,000
—SEI=I| 7Y 22,000
s 6,600
Al 15,400
s dU=2E 326,880 326,880
201 Ler23 | 218,880 218,880
01 At2telt] 144,000 144,000
Oogxt= 130,000
—sJJ =t 252 130,000
Odgt+=H| 9,400
—SIIHSUAME S22 M 4,000
—S)IHLUAIE A BEES (A0, EY
NREE S) 5,000
—Rol 2FA S HA 400
O=g=¢g 1,800
—2UAIE 2?3 1,800
Onl=tl 2,800
—SIIHSH 2l 2= 2,800
2 s=5=434l 74,880 74,880
Os&sk= € MA 36,000
—2U=sJIH € 288Ul 282 36,000
OAIZZHl |XId| 38,880




SN SYEH
HY: =0l . =& B3
el sHIIAHKA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SHOIX |2l & SAAEIA 2,700
—&UAIE & 3l FA2 10,000
—CCTV =Xl2elt] 1,680
—SIIHALUHHHS =3lcI Xt 24,500
206 MH=HI 90,000 90,000
01 MHZHI 90,000 90,000
O=cla+ € M= 10,000
OSU=sLINAH 2 80,000
401 AIEHIX R0HH 18,000 18,000
01 A28l 18,000 18,000
OsIIASUHAIE A FHID FH 18,000
== SEIIAH DMK MZHE XI2AS 235,600 0 235,600
= 117,800
= 35,340
Al 82,460
301 EtE NS 235,600 0 235,600
= 117,800
= 35,340
Al 82,460
14 JIEt 2 a3 235,600 0 235,600
O==SJ1H OIMSHX MZTHE XI& A 235,600
= 117,800
= 35,340
Al 82,460
SIALHHAR WS 12,000 0 12,000
= 6,000
Al 6,000
206 M=l 12,000 0 12,000
= 6,000
Al 6,000
01 MHZHI 12,000 0 12,000
OsIHLEER (AN NSIMHZ) 12,000
= 6,000
Al 6,000
2L (LA 780,132 594,117 186,015
el 2E| 643,694 470,007 173,687
el E2d| 643,694 470,007 173,687
101 ©1AH| 643,694 470,007 173,687
01 2= 472,913 470,007 2,906
o=z 472,913
—6= 12,3212« 17 =122 55A| 2+ 138,242
—XEAH2ISE 014)
11,6192 =22 » 122 x55A| 2+ 15,338




SN sYEH
M HZRAZH(SLFHL)
=9 elmEet| (EH9): ®2)
SA - B BRA(SH) - HRA - of v e HIDE2
—XIZAH20&E 0I6t)
10,8882 x 172 » 12 «55A| 2+ 122,164
—7= 11,1303 13 # 123 x55A1 2t 95,496
—8= 9,902« 0 12Z +B5A[ 2+ 59,353
—9= 9, 1603 »7 S »12E x55A1 2+ 42,320
03 SR (RINAHA) 222+ 170,781 0 170,781
OJlzs 37,893,720 x3H 113,682
Og &=l 3,789,370 +32] 11,369
O+ 1,560,000 *3H 4,680
OAlRAZ 25 7,393,200 +3% 22,180
Oa It &l 2,049,800 «3H 6,150
OJE=g 3,360,000 3% 10,080
Oflg=g 480,000 =3 1,440
Ooul=s| 400,000 *3H 1,200
J1I=28Hl 136,438 124,110 12,328
Jl=23H] 136,438 124,110 12,328
201 el 57,900 55,068 2,832
01 At2telt] 57,900 55,068 2,832
ORKMEg I3l 57,900
—2et=SH| 10,608
—=gHl 18,432
—=XH] 28,860
202 04| 64,458 56,682 7,776
01 SLHoIH 64,458 56,682 7,776
O=LH0itl 64,458
203 HRP=H] 14,080 12,360 1,720
01 D[22 HRFa| 6,000 5,000 1,000
Osdll=de2d 6,000
02 3t R S| 3,280 3,160 120
OXBAD & 40,0003 82 3,280
M FA2ELRFEI 4,800 4,200 600
ORA2g gd2=d 400,000 <123 4,800
HRes(sgy ) 926,231 0 926,231
WA XIE 926,231 0 926,231
WA XIE 926,231 0 926,231
@RJ1sdEs 926,231 0 926,231
0 JI=dEs 926,231 0 926,231
OsgedII= SE3H o2 924,668
Osg2dlls S8 h+=+g 1,563




